EA’TH 10 SetuTiesl 1O f._)wé |

6

i

Tt a3 lrm{)0$5juk to ke | ‘1-3 5') P‘v WsTae,
Moo

1.’1(1-)2‘)

C =L 1.}(9\ >

A

e

_.;_L\\ € ol ﬁ“x

o et e =t

Six > L

T

qb-t

e ,\/{D;é_a;ai é@ :(bz>

Csclax| = [ 07
Lrfb=2 T Goeibh 2
5 '55",.2!_.1
1L
b= 3
o
 / \:2‘1
- 0
e S

¥

:>av 2, b ae wor V\S"VVLQ ha baes, ﬂd' < b

o s li oA




e

N\

f“ =
s 02.. 5— =
.

<._1"L = 2

LA /DW- CJ"-}}”C on was S0 Lot M il 25 eﬁwwplg..(_e
{_,\a.ﬂ&"
S = Ire;Q :

?‘3/

rg 5le~1(e’{u—___> V~=—1_)G':-O‘$?QIQLCJ=L
o2 c,g._;\n_o ool -

e\ * Cot2m 2 3=

vy = 8 ’“w>L,9=3=>21"7_f*s:‘




€
sl . el tsa0)
“(a+2, =
\pm\(s.‘— ‘)~ ,-»/., t/l\ Ly J—TC/\_(Q'\'ZB)\
—& oy k(_u)(v‘rpi/ s < 2
S yepsl v LG = Z
= G d’.L.:L\J-—fe:ﬁj——r@/——S-:AL—i——L—‘J‘:“\Q -
£ e 1 H
Lq: ji‘ 2 ‘\ze -
= e 1 =
R e M—— T 0
r = z T RS IS At
Yo »ﬁq g i) -~
-— ___" = L
te = =y . 3 Oy o
=G, f‘;-:;q 1_/‘7 ~1“'-f'-d . 1/&» ;—1-7—%6
_‘i_ée l;l : = =2 \6"11‘;}2_-27 Q,
-L.//
Vg (5716

FISTHY 1 257
¢ -

™

P N\ Vel .1\ Lo N -/ \
C- (2 #w) = (2Fib)((x+u) +1(y+vY)

= 3 (xre) =bly ) (3 () +bGor)

\ ol 4 \‘\ < Y’/_ 1‘3 N :/}\r-ﬁ-lnxl\j
bX)J el Lk&b("mV/ TN KJV\.JJ




943 ?,:;:"%1“'21: ¢ ?%“5 + 2 k\‘(%

- =
o =
z -
- 2 4 1 == 7 3 1‘\.— < ?)f\_‘& “‘?’-zu
e ey S L:—: Lo -~ i 2
o RS ¢ = < )
t -L""z— LsL - t - = =
B, = N Ty e =
=

(4 i £ }‘n
‘ = 7B e S Sy ‘e~
‘}’2-‘_()'1]:‘5} T = 47 % }q)—

¥y =
= - < 1.1—-
“"3)\"“ ol ‘__r++>(/i§: a =
iy 2
2 by 45
3(:% Ty YRy g )_l

ys

B The Eucliden clgoift

-~

l}p(ﬂ - (}v&)‘c(,'/(z/) =)

w { Y _@5_& o < cﬁo_jm(}-%\z S

J@-?mgy-’*o, ‘;‘}g:& \?t; oA

TTEs T vE s
Bu—\»)ﬂ/sg\,‘

C o oy »

s \%&—F(z)=(‘;-g}7’6r) =1 6o OQLM%



